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Forma do pavimento 00

escala 1:50

Vigas

Nome
Seção Elevação

Nível

(cm) (cm) (cm)

V1 15x30 0 100

V2 15x30 0 100

V3 15x40 0 100

V4 15x30 0 100

V5 15x30 0 100

V6 15x30 0 100

V7 15x40 0 100

V8 15x30 0 100

V9 15x30 0 100

V11 15x40 0 100

V12 15x40 0 100

Características dos materiais

fck Ecs

(kgf/cm²) (kgf/cm²)
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Relação do aço

S1

AÇO N DIAM

(mm)

QUANT
C.UNIT

(cm)

C.TOTAL

(cm)

CA60 1 5.0 63 86 5418

2 5.0 7 26 182

3 5.0 7 76 532

CA50 4 6.3 120 119 14280

5 6.3 100 129 12900

6 10.0 12 VAR VAR

7 10.0 30 40 1200

8 10.0 30 VAR VAR

9 12.5 8 40 320

Resumo do aço

AÇO DIAM

(mm)

C.TOTAL

(m)

PESO + 10 %

(kg)

CA50

CA60

6.3

10.0

12.5

5.0

271.8

64

3.2

61.4

73.2

43.4

3.4

10.4

PESO TOTAL

(kg)

CA50

CA60

119.9

10.4

Volume de concreto (C-25) = 2.61 m³

Área de forma = 19.1 m²
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CAU 16.115 -2





 FONE: 0*49 9982 2344
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






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